

Unitarity at 2x2

June-26-14 9:07 AM

$$\begin{pmatrix} 0 & 1 \\ \bar{a} & 1-\bar{a} \end{pmatrix} \begin{pmatrix} 1-a & a \\ 1 & 0 \end{pmatrix}$$

At 2x2, I'm looking for $M(a,b)$ s.t.

$$1. \begin{pmatrix} 0 & 1 \\ \bar{a} & 1-\bar{a} \end{pmatrix} M(b,a) = M(a,b) \begin{pmatrix} 1-\bar{a} & 1 \\ \bar{a} & 0 \end{pmatrix}$$

$$2. \begin{pmatrix} 1-b & b \\ 1 & 0 \end{pmatrix} M(b,a) = M(a,b) \begin{pmatrix} 0 & b \\ 1 & 1-b \end{pmatrix}$$

$$1. \begin{pmatrix} q_{21} & q_{22} \\ \bar{a}q_{21} + (1-\bar{a})q_{22} & \bar{a}q_{12} + (1-\bar{a})q_{22} \end{pmatrix} = \begin{pmatrix} (1-\bar{a})p_{11} + \bar{a}p_{12} & p_{11} \\ (1-\bar{a})p_{21} + \bar{a}p_{22} & p_{21} \end{pmatrix}$$

$$2. \begin{pmatrix} (1-b)q_{11} + bq_{21} & (1-b)q_{12} + bq_{22} \\ q_{11} & q_{12} \end{pmatrix} = \begin{pmatrix} p_{12} & bp_{11} + (1-b)p_{12} \\ p_{22} & bp_{21} + (1-b)p_{22} \end{pmatrix}$$

$$\Rightarrow q_{22} = p_{11} \quad q_{11} = p_{22} \quad q_{21} = p_{21} \quad q_{12} = p_{12}$$

$$\begin{aligned} p_{21} &= (1-\bar{a})p_{11} + \bar{a}p_{12} \\ p_{12} &= (1-b)p_{22} + bp_{21} \end{aligned}$$

$$p_{21} = \bar{a}p_{12} + (1-\bar{a})p_{11}$$

say $p_{21} = p_{12} = 1$, then $p_{11} = 1 = p_{22}$ so $M = \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix}$

\Rightarrow no information.

$$\text{say } p_{21} = 1, p_{12} = 0 \Rightarrow p_{11} = \frac{1}{1-\bar{a}} \quad p_{22} = -\frac{b}{1-b}$$

$$= \frac{1}{1-b}$$

$$\text{Key! } M = \begin{pmatrix} \frac{a}{a-1} & 0 \\ 1 & \frac{b}{b-1} \end{pmatrix} = \begin{pmatrix} 1 + \frac{1}{a-1} & 0 \\ 1 & 1 + \frac{1}{b-1} \end{pmatrix}$$

Using linearity and subtracting $(1, 1)$, we see that $\begin{pmatrix} \frac{1}{a-1} & -1 \\ 0 & \frac{1}{b-1} \end{pmatrix}$ also works, and so does $\begin{pmatrix} \frac{1}{1-a} & 1 \\ 0 & \frac{1}{1-b} \end{pmatrix}$

At $a=b=T$, this reduces to the unitarity of $B_{T,u}$! Does this pattern persist?